Solve the following for x:

4x+1: 44x-2 2x—4: 23x+2



Property:

If b is a positive number not equal to 1, then b*=b"if and only if x = y
Example: 2°=2"if and only if x = 3.



Solve the following for x:
5x—6
4* = (E) 92x e 27x—1

813—x - (_) 107x+1 - 10003x—2



Solve the following for x:

4* =11



Solve the following for x:

9x —_— 49 12x — 13

16* = 67 3% — 17



You deposit $4000 in an account that pays 2.92% annual interest. How long will
it be until you have more than $6000 if the interest is compounded quarterly.

Compound interest formula:

P = r =



Property:
If b, x, and y are positive numbers not equal to 1, then
log, x = log, yifand onlyifx =y

Example: logz 7 = logz X ifandonly if X = 7



Solve the following for x:

log:(4x — 7) = log:(5 + x)



Solve the following for x:

log 5x = log(2x + 9) log,(x +6) —log, x = log, 2

In(4x —5) =In(2x — 1) log:(10 — 4x) = log<(10 — 3x)



Solve the following for x:

log,5x —1 =3



Solve the following for x:

log2+logx =1 —6log,(x — 3) = —24

—10 + logz(x + 3) = —10 —2logs 7x = 2



